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QUESTION 1

You execute this command successfully:

SQL> ALTER DATABASE BACKUP CONTROLFILE TO TRACE;

What is the outcome?

A. It creates a binary backup of the control file.

B. It updates the alert log with the location and contents of the control file

C. It creates a file that contains SQL statements to re-create the control file.
D. It creates a file that contains RMAN scripts to create a duplicate database.
E. It creates a copy of the control file in the fast recovery area (FRA).

Correct Answer: C

QUESTION 2
Which three are true about OPatch ? (Choose three).
A. It requires installation of Oracle Universal Installer.

B. A. It performs a shutdown and then a restart of all processes in both Oracle Grid Infrastructure and Oracle Database
home during the patching process.

C. It must be invoked as the user that owns the software being patched.

D. Itis a Java-based utility for applying patchsets.

E. It is platform independent.

F. It can be used to apply interim patches to the Grid Infrastructure and Database Home combination.

Correct Answer:. BCF

QUESTION 3

Which three are true about Rapid Home Provisioning of Oracle software? (Choose three.)

A. It can be used only on nodes with Oracle Grid Infrastructure installed.

B. It can be used to patch existing Oracle software installations.

C. It can be used to create templates of Oracle homes as gold images of only Oracle databases.

D. It can be used to deploy new homes without disrupting active databases.
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E. It can be used to create a single-instance Oracle Database in an already-installed Oracle home.
F. It can be used to upgrade only single-instance databases running on Oracle Restart.
Correct Answer: BDE

Rapid Home Provisioning can provision Oracle Database homes for Oracle Database 11.2 and later. Once the software
is provisioned, a single RHP command will create a database with choices including

1.

Oracle Real Application Clusters (Oracle RAC)

2.

Oracle Real Application Clusters One Node (Oracle RAC One Node)

3.

single instance (with or without Grid Infrastructure or Oracle Restart on the target)
4,

using templates

5.

creating Oracle Multitenant Container Databases (CDBs)

6.

creating an Admin- or Policy-managed database https://www.oracle.com/assets/rapid-home-provisioning-2405191.pdf

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/sprhp/what-can-i-do-rapid-home-
provisioning.html

QUESTION 4

RMAN is connected to a target database instance and an auxilary instance. You execute 3625the command:

EMAEN> DUPLICATE TABEGET DBATABASE
TCo dupdb
FROM ACTIVE DATAPASE
SECTION S5IZE 1G;

RMAN> DUPLICATE TARGET DATABASE TO dupdb FROM ACTIVE DATABASE SECTION SIZE 1G; What is the
outcome?

A. RMAN uses the pull method to restore files using image copies
B. RMAN uses the push method to transfer image copies

C. RMAN uses the push method to transfer backup sets
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D. RMAN uses the pull method to restore files using backup sets

Correct Answer: D

When RMAN performs active database duplication using backup sets, a connection is established with the source
database and the auxiliary database. The auxiliary database then connects to the source database through Oracle Net
Services and retrieves the required database files from the source database. This method of active database duplication
is also to as the pull-based method.

Example: DUPLICATE TARGET DATABASE TO dupdb FROM ACTIVE DATABASE PASSWORD FILE SPFILE
NOFILENAMECHECK; Incorrect Answers: A, B, C: When active database duplication is performed using image copies,
after RMAN establishes a connection with the source database, the source database transfers the required database
files to the auxiliary database. Using image copies may require additional resources on the source database. This
method is referred to as the push-based method of active database duplication.

References: https://docs.oracle.com/database/121/BRADV/rcmdupdb.htm

QUESTION 5

Examine this configuration:

1.

CDB1 is a container database.

2.

COMMON_USER_PREFIX is set to an empty string.

3.

PDBL1 is a pluggable database in CDB1.

4,

APP1_ROOT is an application container in CDBL1.

5.

APP1_PDB1 is an application PDB in APP1_ROOT.

You execute these commands:

$ sqlplus sys/oracle@localhost:1521/cdbl as sysdba

SQL> CREATE ROLE rolel CONTAINER=CURRENT;

What is true?

A. It will return an error because creation of a local role is not allowed in CDB$ROOT.
B. ROLE1 will be created only in CDB$ROOT and APP1_ROOT.

C. ROLEL1 will be created in CDB$ROOT, PDB1, APP1_ROQT, and APP1_PDB1.

170-083 VCE Dumps | 1Z20-083 Practice Test | 120-083 Braindumps 41/5


https://www.passapply.com/1z0-083.html
https://www.passapply.com/1z0-083.html
https://www.passapply.com/1z0-083.html

VCE & PDF https://www.passapply.com/1z0-083.html
2024 Latest passapply 120-083 PDF and VCE dumps Download
PassApply.com

D. ROLE1 will be created only in CDB$SROOT.
E. It will return an error because common roles must start with C##.

Correct Answer: A
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